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4. HTFKOHEE

BUAHEA NO.1
e Wi e Wer e
4H4H 5H9H 6H6H TH4H 8HI1H 9H5H 10H3H | 11A7H | 12H5H 1A9H 2H 3H

IRFEAA L PRIE - - 6.4 6.5 6.8 6.5 6.5 6.5 6.4 7.1 6.7 6.9 A1E
ERURER mS/m - 12 17 12 15 12 11 22 11 17 19 A1l
WAL A A APRE mg/L — 2.3 2.8 2.9 2.4 2.5 2.5 2.5 2.4 2.3 2.9 AllE
T B R Ba/kg - BN s AR BN s AR BN s RN BN AR BN AR A1l
JRI WL mg/L 0.003LLF - - 0.0003 A7 - - 0.0003 A it - - 0.0003 A7 - AE4[A]
BT mg/L s é - - BN - - N - - BN s - AE4[R]
& mg/L 0.01LLF - - 0.001 355 - - 0.00 1A - - 0.001 AT - AE4[A]
a(iZA=N mg/L 0.052LF - - 0.005A 1 - - 0.005 A - - 0.005 A1 - F4[A]
it mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 A - AE4[A]
HIKER mg/L 0.0005L24 T - - 0.0005 A - - 0.0005 i - - 0.0005 A - F4[A]
TV F VKR mg/L BHEhenze - - AR - - A - - K - 4[]
PCB mg/L Sz e - - BN s - - AR - - BN s - 4]
rup ARy mg/L 0.02LLF - - 0.001 A - - 0.00 1A - - 0.001 A - AE4[A]
UL R 3% mg/L 0.002LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
L2-Y/mamxH mg/L 0.004LL°F - - 0.00025if% - - 0.0002A it - - 0.0002 47 - AE4[A]
L1-YZ7mpzFlL v mg/L 0184 - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
L,2-YzmanxFLyv mg/L 0.04LLF - - 0.001 35 - - 0.001 A7 - - 0.001 A - £E4[E]
L1L,1-hUZouxgy mg/L 1T - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
LL,2-hUZmuxyy mg/L 0.006LLF - - 0.0002i% - - 0.0002A it - - 0.0002 41 - AE4[A]
DA R== S mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
FhrIrumpnxFLy mg/L 0.01LLF - - 0.001 AT - - 0.00 1A - - 0.001 A - AE4[A]
,3-Yrzmanraly mg/L 0.002LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
FIT A mg/L 0.006LLF - - 0.0005i% - - 0.0005A i - - 0.0005 i - AE4[A]
D mg/L 0.003LLF - - 0.0003 A - - 0.0003 it - - 0.0003 A - F4[A]
FARUH T mg/L 0.02LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - AE4[A]
¥y mg/L 0.01LLF - - 0.001 At - - 0.00 1At - - 0.001 At - HE4[m]
L mg/L 0.01LLF - - 0.001 35 - - 0.00 1A - - 0.001 AT - AE4[A]
R PE 2 R e OVl A R PE 25 3R mg/L 10LAF - - 2.4 - - 2.1 - - 2.0 - FE4[H]
5o F mg/L 0.8LLF - - 0.10 - - 0.05A755 - - 0.05Ai - AE4[A]
RS mg/L 1L - - 0. 1A - - 0. 1A - - 0. 1At - F4[A]
L4-UF x4 mg/L 0.05LLF - - 0.005A3 - - 0.005 ¥ - - 0.005A 1 - £E4[E]
VA=0=0--0 2 P mg/L 0.002LLF - - 0.00024 7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
HA XXM pg-TEQ/L 1T - - 0.041 - - 0.043 - - 0.045 - 4[]
IKAL m - - - 16.76 - - 16.60 - - 16.24 - 4[]




BIAFEF NO.2

; " , HE A .
HIEHHE HL FEYEAE W ESEE
4H4H 5H9H 6H6H THAR SH1H 9H5H 10A3H | 11A7H | 12H5H 1H9H 2H 3H
IRFEAA PR - - 7.3 7.2 7.4 7.1 7.1 7.3 7.4 7.0 6.8 6.9 A1l
ERAZE R mS/m - 29 27 31 26 26 27 30 22 22 25 A1E
AL AA PR mg/L - 1.6 4.5 4.5 4.4 4.4 4.5 4.5 4.8 4.4 4.5 A1l
TSP B R Ba/kg - AR A AR A RN s A AR AHgE AR AHgE J=RE
BRI T A mg/L 0.003LLF - - 0.0003 A i - - 0.0003 it - - 0.0003 A - F4[A]
£YT v mg/L S hienze - - N - - A - - K - 4[]
&0 mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
VY ZA=FN mg/L 0.05LLF - - 0.005A 7 - - 0.005 A - - 0.005A3 - AE4[A]
S mg/L 0.01BLF - - 0.005 - - 0.001 - - 0.001 A3 - AE4[R]
FRIKER mg/L 0.0005L4 - - 0.0005i% - - 0.0005A i - - 0.0005 i - AE4[A]
TV LK R mg/L BHEhenze - - BN s - - AR - - BN s - AE4[R]
PCB mg/L BEnianze - - AR - - A - - K - G|
D= 0=0 % 8% mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
DU KAk R 3 mg/L 0.002LL°F - - 0.0002if% - - 0.0002A it - - 0.0002 47 - 4E4[A]
L2-Yr/uanxi mg/L 0.004LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
L1-Yz7enxFL v mg/L 0.1LLF - - 0.001 35 - - 0.001 A7 - - 0.001 AT - £E4[E]
,2-Ys7mpzFlL v mg/L 0.04LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
LL,1-hUZmuxyy mg/L LLLF - - 0.001 A - - 0.00 1A - - 0.001 A - AE4[A]
LL2-rYZuaxiy mg/L 0.006LL - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
[ NRA=R=E= mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - AE4[A]
FhIrunxzFLy mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
L,3-Yrmnraly mg/L 0.002LL°F - - 0.00025if% - - 0.0002A it - - 0.0002 7 - AE4[A]
FUT A mg/L 0.006LL - - 0.0005 A - - 0.0005 i - - 0.0005 A - F4[A]
D @S mg/L 0.003LAF - - 0.0003 A7 - - 0.0003 i - - 0.0003i% - 4[]
FA AT mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
R mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - £E4[E]
L mg/L 0.01LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
fH TR PE % 38 e OV A T PE 25 3R mg/L 10LL T - - 0.25 - - 0.29 - - 0.26 - 4[]
SoH mg/L 0.8LLF - - 0.10 - - 0.05A7i5 - - 0.05A i - F4[A]
EREA mg/L 1LLF - - 0. 1A - - 0.1 - - 0. 1A - 4]
LA-UF x4 mg/L 0.052LF - - 0.005A 1 - - 0.005 A - - 0.005 A1 - F4[A]
VA=0=1==0 SR mg/L 0.002LL°F - - 0.00025i% - - 0.0002A i - - 0.0002 47 - HE4[A]
e | pg-TEQ/L 1LLF - - 0.042 - - 0.043 - - 0.041 - 4[]
IRAE m - - - 30.04 - - 30.10 - - 30.09 - £E4[E]




BUFEF NO.3

; " , HE A .
HIEHHE HL FEYEAE W ESEE
4H4H 5H9H 6H6H THAR SH1H 9H5H 10A3H | 11A7H | 12H5H 1H9H 2H 3H
IRFEAA PR - - 7.1 7.0 7.1 7.0 7.0 6.9 6.9 7.2 6.9 6.9 A1l
ERAZE R mS/m - 9.9 9.9 10 9.4 10 9.0 9.8 9.5 10 9.5 A1E
AL AA PR mg/L - 3.0 3.0 3.1 3.0 3.1 2.9 2.9 3.0 2.8 2.8 A1l
TSP B R Ba/kg - AR AHgE AR A RN s A AR AHgE AR AHgE A1l
7RI A mg/L 0.003LLF - - 0.0003 A i - - 0.0003 it - - 0.0003 A - F4[A]
£YT v mg/L S hienze - - N - - A - - K - 4[]
&0 mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
VY ZA=FN mg/L 0.05LLF - - 0.005A 7 - - 0.005 A - - 0.005A3 - AE4[A]
S mg/L 0.01LLF - - 0.003 - - 0.003 - - 0.004 - 4]
FaIK R mg/L 0.0005L4 - - 0.0005i% - - 0.0005A i - - 0.0005 i - 4E4[A]
TV LK R mg/L BHEhenze - - BN s - - AR - - BN s - AE4[R]
PCB mg/L BEnianze - - AR - - A - - K - G|
D= 0=0 % 8% mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
DU KAk R 3 mg/L 0.002LL°F - - 0.0002if% - - 0.0002A it - - 0.0002 47 - 4E4[A]
L2-Yr/uanxi mg/L 0.004LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
L1-¥Y/mrrxFlLv mg/L 0.1LLF - - 0.001 AT - - 0.001 A7 - - 0.001 A - AFEA[a]
,2-Ys7mpzFlL v mg/L 0.04LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
LL,1-hyZmmxziy mg/L 1T - - 0.001 455 - - 0.001 A7 - - 0.001 A% - 4[]
LL,2-hVZmuxzyy mg/L 0.006LL - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
[ NRA=R=E= mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - AE4[A]
FhIrunxzFLy mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
L,3-Yrmnraly mg/L 0.002LL°F - - 0.00025if% - - 0.0002A it - - 0.0002 7 - 4E4[A]
FUT A mg/L 0.006LL - - 0.0005 A - - 0.0005 i - - 0.0005 A - F4[A]
DA% mg/L 0.003LLF - - 0.0003 A7 - - 0.0003 A it - - 0.0003 A7 - AE4[A]
FA AT mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
R mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - £E4[E]
L mg/L 0.01LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
fH TR PE % 38 e OV A T PE 25 3R mg/L 10LLF - - 0.03A4 - - 0.03A7 - - 0.03 A4 - HE4[A]
SoH mg/L 0.8LLF - - 0.09 - - 0.05A7i5 - - 0.05A i - F4[A]
ERES mg/L 1LLF - - 0. 1A - - 0.1 - - 0. 1A - HE4[A]
LA-UF x4 mg/L 0.052LF - - 0.005A 1 - - 0.005 A - - 0.005 A1 - F4[A]
VA=0=1==0 SR mg/L 0.002LL°F - - 0.00025i% - - 0.0002A i - - 0.0002 47 - HE4[A]
e | pg-TEQ/L 1LLF - - 0.041 - - 0.043 - - 0.043 - 4[]
IKAE m - - - 21.84 - - 22.29 - - 21.27 - 4[]




B NO.4

; " , HE A .
HIEHHE HL FEYEAE W ESEE
4H4H 5H9H 6H6H THAR SH1H 9H5H 10A3H | 11A7H | 12H5H 1H9H 2H 3H
IRFEAA PR - - 7.2 7.4 7.4 7.2 7.2 7.2 7.2 7.2 7.0 7.3 A1l
ERAZE R mS/m - 12 12 11 11 11 12 11 11 11 14 A1E
AL AA PR mg/L - 1.6 1.6 1.6 1.6 1.6 1.7 1.6 1.6 1.6 1.6 A1l
TSP B R Ba/kg - AR AHgE AR A RN s A AR AHgE AR AHgE A1l
7RI A mg/L 0.003LLF - - 0.0003 A i - - 0.0003 it - - 0.0003 A - F4[A]
£YT v mg/L S hienze - - N - - A - - K - 4[]
&0 mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
VY ZA=FN mg/L 0.05LLF - - 0.005A 7 - - 0.005 A - - 0.005A3 - AE4[A]
it mg/L 0.01LAF - - 0.001 - - 0.00 1A - - 0.001 - HE4[m]
FaIK R mg/L 0.0005L4 - - 0.0005i% - - 0.0005A i - - 0.0005 i - 4E4[A]
TV LK R mg/L BHEhenze - - BN s - - AR - - BN s - AE4[R]
PCB mg/L BEnianze - - AR - - A - - K - G|
D= 0=0 % 8% mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
DU KAk R 3 mg/L 0.002LL°F - - 0.0002if% - - 0.0002A it - - 0.0002 47 - 4E4[A]
L2-Yr/uanxi mg/L 0.004LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
L1-Yz7enxFL v mg/L 0.1LLF - - 0.001 35 - - 0.001 A7 - - 0.001 AT - £E4[E]
,2-Ys7mpzFlL v mg/L 0.04LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
LL,1-hyZmmxziy mg/L 1T - - 0.001 455 - - 0.001 A7 - - 0.001 A% - 4[]
LL2-rYZuaxiy mg/L 0.006LL - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
[ NRA=R=E= mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - AE4[A]
FhIrunxzFLy mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
L,3-Yrmnraly mg/L 0.002LL°F - - 0.00025if% - - 0.0002A it - - 0.0002 7 - 4E4[A]
FUT A mg/L 0.006LL - - 0.0005 A - - 0.0005 i - - 0.0005 A - F4[A]
DA% mg/L 0.003LLF - - 0.0003 A7 - - 0.0003 A it - - 0.0003 A7 - AE4[A]
FA AT mg/L 0.02LLF - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
R mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - £E4[E]
L mg/L 0.01LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
e 25 38 e OV fi e 1 22 37 mg/L 10LL T - - 0.07 - - 0.08 - - 0.08 - AFE4[E]
SoH mg/L 0.8LLF - - 0.09 - - 0.05A7i5 - - 0.05A i - F4[A]
ERES mg/L 1LLF - - 0. 1A - - 0.1 - - 0. 1A - HE4[A]
LA-UF x4 mg/L 0.052LF - - 0.005A 1 - - 0.005 A - - 0.005 A1 - F4[A]
VA=0=1==0 SR mg/L 0.002LL°F - - 0.00025i% - - 0.0002A i - - 0.0002 47 - HE4[A]
e | pg-TEQ/L 1LLF - - 0.050 - - 0.043 - - 0.042 - 4[]
IKAE m - - - 8.28 - - 8.02 - - 8.30 - 4[]




T AREEAKE YN

e Wi e Wer e
4H4H 5H9H 6H6H 7TH4H 8HI1H 9H5H 10H3H | 11A7H | 12H5H 1A9H 2H 3H
IKFBAAPREE - — 8.3 7.6 8.2 7.4 8.0 7.6 7.3 8.5 8.0 8.6 A1l
ERURER mS/m - 70 68 85 71 91 74 78 66 75 74 A1l
WA A PR mg/L - 8.5 9.0 8.2 8.7 8.4 8.0 9.5 7.3 7.9 8.3 A1E
TR B R Ba/kg - BN AR BN s AR BN s AR NS AR BN s N ] A1l
JRI WL mg/L 0.003LL°F - - 0.0003 A7 - - 0.0003 A it - - 0.0003 A7 - AE4[A]
BT mg/L s e - - BN s - - N - - BN s - AE4[R]
& mg/L 0.01LLF - - 0.001 355 - - 0.00 1A - - 0.001 A - AE4[A]
A/ =IN mg/L 0.052LF - - 0.005A 1 - - 0.005 A - - 0.005 A1 - F4[A]
e mg/L 0.01LLF - - 0.004 - - 0.003 - - 0.004 - 4[]
KK SR mg/L 0.0005L4 - - 0.0005 A - - 0.0005Aif - - 0.0005 A i - F4[A]
TV F VKR mg/L BHEhenze - - AR - - A - - K - 4[]
PCB mg/L BHEnhenze - - BN s - - AR - - BN s - 4]
DY A=R=T ¥ 2 mg/L 0.02LLF - - 0.001 A - - 0.00 1A - - 0.001 A - AE4[A]
DUE AL R 3 mg/L 0.002LLF - - 0.0002 A7 - - 0.0002A4ifi - - 0.0002 A7 - F4[A]
L2-Y/mumxH mg/L 0.004LL°F - - 0.00025if% - - 0.0002A it - - 0.0002 7 - AE4[A]
L,1-Y/7mpzFL v mg/L 0184 - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
L,2-YsmenxFLyv mg/L 0.04LLF - - 0.001 355 - - 0.001 A7 - - 0.001 AT - £E4[E]
L1L,1-hUZouxgy mg/L 1T - - 0.001 At - - 0.00 1A - - 0.001 At - F4[A]
LL,2-hUZmuxyy mg/L 0.006LLF - - 0.0002i% - - 0.0002A it - - 0.0002 47 - AE4[A]
DA R== S mg/L 0.01LLF - - 0.001 At - - 0.00 1At - - 0.001 At - F4[A]
FhrIrumpnxFLy mg/L 0.01LLF - - 0.001 A - - 0.00 1A - - 0.001 AT - AE4[A]
,3-Yrzmnraly mg/L 0.002LLF - - 0.0002 A7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
FIT A mg/L 0.006LLF - - 0.0005i% - - 0.0005Aii - - 0.0005 A - AE4[A]
D mg/L 0.003LLF - - 0.0003 A i - - 0.0003 it - - 0.0003 A - F4[A]
FARUHNT mg/L 0.02LLF - - 0.001 A - - 0.00 1A - - 0.001 A - AE4[A]
¥y mg/L 0.01LLF - - 0.001 At - - 0.00 1A - - 0.001 At - HE4[m]
L mg/L 0.01LLF - - 0.001 355 - - 0.00 1A - - 0.001 A - HE4[A]
R PE S R e OVl A R PE 25 57 mg/L 10LAF - - 3.3 - - 3.6 - - 2.7 - FE4[H]
5o F mg/L 0.8LLF - - 0.07 - - 0.05A755 - - 0.05Ai - AE4[A]
RS mg/L 1L - - 0. 1A - - 0. 1A - - 0. 1At - F4[A]
L4-UF x4 mg/L 0.05LLF - - 0.005A3 - - 0.005 7 - - 0.005A 7 - £E4[E]
VA=0=0--0 2 P mg/L 0.002LLF - - 0.00024 7 - - 0.0002A4if - - 0.0002 A7 - F4[A]
HA XXM pg-TEQ/L 1LLF - - 0.043 - - 0.043 - - 0.042 - 4[]




5. BHAR CLEADOHE
i K

HEE H Hfir PiE A I E S EE
4A4H 5H9H 6H6H THAR 8A1H 9H5H 10A3F | 11A7H | 12A5H 1A9H 2A 3A
IKFAF WL - 7.6 7.1 7.5 7.2 7.5 7.4 7.4 7.2 7.3 7.5 A1
BRARE R mS/m 720 980 840 1000 1100 1300 1600 1800 2100 2000 A
WAL A+ WE mg/L 2600 3500 2500 3500 3800 5500 6400 7700 8100 9800 A1
AL S R S SR mg/L 5 7 2 5 6 JEST| 19 4 6 4 A1
I mg/L LA JERT LA JERT [ESL 2 2 JERT 2 1 A 1]
TATFIR TR it mg/L 9.4 8.0 8.5 7.8 7.8 7.0 6.2 7.7 10.0 6.4 A1
PNTET {8/ crit 10044 | 1000 | 1004 | 1004 | 10047 | 1000 | 1004 | 1004 | 10047 | 1004 A1lal
TR PE I Ba/kg ERVA ARt At EN I At EN I At EN At EN I A1lE
I ST U E S A &
SLmE|  me/L - - - - - 245 - - - - 420
EREIARE]  me/L - - - - - pES - - - - E2fH]
PEVAYIZ ) mg/L - - - - - 0.5A44 - - - - AE2[m]
GG A mg/L - - - - - 0.0545 - - - - 0[]
NS A b mg/L - - - - - 0.0545 - - - - 4E2[a]
RIS A B mg/L - - - - - 0. 1K1 - - - - FE2[A]
R~ AT B B mg/L - - - - - 0.4 - - - - 4E2[a]
VPN 5 3 mg/L - - - - - 0.05A7i - - - - AE20a]
ERGHE mg/L - - - - - 9.0 - - - - 4E2[A]
BRIV A mg/L - - - - - 0.003 i - - - - 20
BT mg/L - - - - - 0. 1A - - - - AE2[m]
£ mg/L - - - - - 0.01 A - - - - AFE2A|
VY A=A mg/L - - - - - 0.0547% - - - - AE2[m]
it mg/L - - - - - 0.01 Al - - - - E2fH]
HRZKER mg/L - - - - - 0.0005A i - - - - 420
TV LK ER mg/L - - - - - 0.0005 A7 - - - - 2]
PCB mg/L - - - - - 0.0005A 5 - - - - AE2[m]
vran AL mg/L - - - - - 0.01 A7 - - - - AE20a]
lafeeidorE mg/L - - - - - 0.002A15 - - - - 4E2[A]
Lo-YsuanTh mg/L - - - - - 0.002415 - - - - 4E2[A|
Li-YZunxzFLo mg/L - - - - - 0.0 1A i - - - - 2
vA-1,2-Y/unxF L mg/L - - - - - 0.0145 - - - - 0[]
Lo-YrunxzFLo mg/L - - - - - 0.0 1A i - - - - 2
L1,1-FYZmpxi mg/L - - - - - 0.01 A7 - - - - AE20a]
L,1L,2-hYZmoxxy mg/L - - - - - 0.0024155 - - - - AE2[m]
AR S mg/L - - - - - 0.01 A7 - - - - AE20a]
FhI/mpnxFL mg/L - - - - - 0.01 A7 - - - - AE2[m]
L3-Yrunrasty mg/L - - - - - 0.002415 - - - - E2fH|
FT A mg/L - - - - - 0.005A7i - - - - A2[m]
P e mg/L - - - - - 0.003A3it5 - - - - AE2[m]
FA_HNT mg/L - - - - - 0.0 1A% - - - - AE2[m]
NPy mg/L - - - - - 0.01 A7 - - - - AE20m]
Ly mg/L - - - - - 0.01 A% - - - - AE2[m]
T 28 3 S OV RS A P 2 mg/L - - - - - 3.9 - - - - 0[]
SHoF mg/L - - - - - 0541 - - - - 4E2[a]
EES mg/L - - - - - JEST - - - - B
LA-UF x4 mg/L - - - - - 0.05A7i - - - - HE2[H]
VACE=E A mg/L - - - - - 0.00241i5 - - - - E2lH]
A A H UM pg-TEQ/L - - - - - 0.000036 - - - - 4E2[a]




JUBEVS

WEHH wifz WER W
4H4H 5H9H 6H6H TH4H 8H1H 9H5H 10A3H | 11A7H | 12A5H 1H9H 2H 3A
IKHEA AP - 7.5 7.5 7.3 7.6 7.9 6.9 7.8 6.6 6.8 7.1 AlE
RS mS/m 490 600 700 720 480 880 840 1300 1700 1800 A1mE
WAt A B mg/L 1100 1400 1700 1800 1100 2900 3000 4900 6300 7200 A1mE
AR 2R i mg/L JEST) JEST) JEST) JEST) 1 JEST) JEST) 1A 3 1 Al
TR B mg/L JEST) JEST) JEST) JEST) 1A 1 1 JEST) JEST) 1A A 1=
T AFIR b mg/L 7.8 6.6 8.2 6.8 6.9 5.7 6.1 6.4 8.6 5.3 Al
KRR {8/ cai 1004 | 100A# | 1004 | 100A | 100478 | 10047 | 1004 | 1004 | 10045# | 1004 A 1lE
TS T Ba/kg At EN EN ENE EN EN EN EN EN RN Al
I T U S A
SR mg/L - - - - - PESE] - - - - H2[a]
IR me/L - - - - - pEST] - - - - fEfE|
7= /)—/VIH mg/L - - - - - 0.5A7 - - - - H2[a]
A mg/L - - - - - 0.05Ai5 - - - - 2]
HEh A mg/L - - - - - 0.05 A - - - - #20E]
Sk E A B mg/L - - - - - (BESC] - - - - #20E]
Bt~ T A R mg/L - - - - - 0. 144 - - - - #20E]
VA=RN-v ) 3 mg/L - - - - - 0.05 A - - - - #20E]
EHREA R mg/L - - - - - 0.4 - - - - AE2[A]
BRI 7L mg/L - - - - - 0.003 A5 - - - - H2[a]
BYT v mg/L - - - - - 0. 1A - - - - AE20a]
i mg/L - - - - - 0.01 A - - - - #20E]
Y A=A mg/L - - - - - 0.05Aif - - - - H2a]
[ mg/L - - - - - 0.01 A - - - - #20E]
HRAKER mg/L - - - - - 0.0005 A5 - - - - AE20a]
TV LK R mg/L - - - - - 0.0005 A5 - - - - AE20a]
PCB mg/L - - - - - 0.0005 A5 - - - - AE20a]
D/ A=2=0 0 V4 mg/L - - - - - 0.01 A - - - - AE2[A]
VOt b mg/L - - - - - 0.002Ai# - - - - AE2[m]
L2-Yr/mmaxiy mg/L - - - - - 0.0024i5 - - - - AE20a]
L1-YZ7puxFLy mg/L - - - - - 0.01 A - - - - AE2[A]
VA~ 2~V /S L mg/L - - - - - 0.0 1A - - - - H2[a]
Lo-YrmuxFLy mg/L - - - - - 0.01 A - - - - AE20A]
L1L,1-hYZumr=X mg/L - - - - - 0.01 A7 - - - - AE20a]
LL,2-hVZmmxziy mg/L - - - - - 0.0024i5 - - - - AE20a]
NUR/A=R=1= 0 VA mg/L - - - - - 0.0 1A - - - - 2]
FhIrsmmTF LY mg/L - - - - - 0.0 1A - - - - A2
L,3-Y/mrurr~ly mg/L - - - - - 0.002A1i5 - - - - 208
FT A mg/L - - - - - 0.005 A - - - - AE2[A]
DAV mg/L - - - - - 0.003 A4 - - - - AE2[A]
FARHNT mg/L - - - - - 0.01 A - - - - #20E]
_yP mg/L - - - - - 0.01 A - - - - AE2[A]
L mg/L - - - - - 0.01 A5 - - - - AE20A]
e P 2 R OV i e 1 28 mg/L - - - - - 0. 344 - - - - #20m]
5o mg/L - - - - - 0.5 - - - - H2A]
ESES mg/L - - - - - JEST) - - - - #20E]
L4Vt xH v mg/L - - - - - 0.05A7i - - - - AE20a]
VARR=E=0 S mg/L - - - - - 0.002435 - - - - H2A]
FAF XU pe-TEQ/L - - - - - 0 - - - - A2




6. R—NFLDFBAERN

st A feaRfsE 5
B % H ML
7. ZERE SRR
Pk | B WEH s
4H4H | 4H118 | 4H18H | 4A25H | 5H2H 5A9H | 54168 | 54230 | 54300 | 6H6H | 6130 | 64201 | 6H27H
1 1 Sv/h 0.072 0.064 0.069 0.066 0.061 0.066 0.075 0.063 0.063 0.063 0.068 0.062 0.068 JE 1=
2 1 Sv/h 0.046 0.049 0.052 0.049 0.044 0.048 0.047 0.043 0.048 0.051 0.045 0.052 0.049 JE 1=
3 uSv/h 0.058 0.053 0.061 0.056 0.052 0.067 0.058 0.052 0.065 0.052 0.055 0.055 0.057 JE 1=
4 1 Sv/h 0.047 0.045 0.048 0.052 0.052 0.052 0.052 0.046 0.044 0.045 0.052 0.045 0.052 JE 1=
5 1 Sv/h 0.051 0.044 0.053 0.049 0.052 0.046 0.050 0.050 0.049 0.049 0.049 0.047 0.047 JE 1=
6 1 Sv/h 0.047 0.043 0.042 0.047 0.041 0.051 0.049 0.040 0.044 0.042 0.045 0.040 0.045 1=
7 1 Sv/h 0.046 0.051 0.043 0.045 0.046 0.044 0.041 0.042 0.045 0.045 0.044 0.044 0.047 1=
8 uSv/h 0.045 0.049 0.041 0.048 0.042 0.050 0.045 0.042 0.049 0.043 0.054 0.043 0.042 JE 1=
9 1 Sv/h 0.048 0.043 0.049 0.046 0.040 0.048 0.048 0.043 0.046 0.046 0.048 0.046 0.041 JE 1=
10 1 Sv/h 0.048 0.052 0.044 0.055 0.053 0.054 0.064 0.059 0.045 0.048 0.052 0.057 0.051 JE 1=
11 1 Sv/h 0.048 0.053 0.046 0.044 0.056 0.047 0.049 0.056 0.048 0.052 0.053 0.047 0.048 JE 1=
B | WER _ s s
7TH4H | 7TH11R | 7TA18H | 7H25H | 8H1H 8H8H | 8A15H | ®groop | "8H20m | 9H5H | 9H12H | 9H19F | 9H26H
1 1 Sv/h 0.057 0.069 0.061 0.068 0.069 0.071 0.078 0.08 0.08 0.069 0.065 0.077 0.066 JE 1=
2 1 Sv/h 0.046 0.054 0.046 0.053 0.053 0.046 0.058 0.06 0.05 0.051 0.048 0.057 0.044 JE 1=
3 1 Sv/h 0.061 0.068 0.062 0.062 0.068 0.058 0.060 0.07 0.07 0.054 0.062 0.067 0.057 JE 1=
4 1 Sv/h 0.049 0.053 0.049 0.049 0.051 0.049 0.057 0.07 0.06 0.048 0.053 0.053 0.051 JE 1=
5 1 Sv/h 0.051 0.052 0.051 0.051 0.052 0.047 0.050 0.07 0.07 0.055 0.045 0.054 0.043 1=
6 1 Sv/h 0.045 0.045 0.046 0.046 0.045 0.042 0.045 0.05 0.06 0.044 0.039 0.045 0.046 JE 1=
7 1 Sv/h 0.047 0.046 0.039 0.047 0.047 0.045 0.048 0.06 0.06 0.043 0.044 0.043 0.044 1=
8 1 Sv/h 0.044 0.044 0.044 0.045 0.042 0.043 0.049 0.05 0.06 0.047 0.038 0.049 0.041 JE 1=
9 1 Sv/h 0.046 0.047 0.045 0.047 0.043 0.044 0.046 0.05 0.05 0.051 0.047 0.046 0.042 1=
10 1 Sv/h 0.052 0.053 0.048 0.056 0.060 0.056 0.058 0.06 0.05 0.052 0.043 0.050 0.042 1=
11 1 Sv/h 0.048 0.052 0.052 0.056 0.050 0.048 0.047 0.05 0.07 0.047 0.048 0.055 0.051 1=




HE R

AR | R e e
10H3H 10H10H | 10H17H | 10H24H | 10H31H 11H7H 11H148 | 11H21H | 11H28H 12H5H 12H12H | 12H19H | 12H26H

1 1 Sv/h 0.056 0.077 0.065 0.069 0.061 0.067 0.070 0.071 0.073 0.064 0.076 0.068 0.074 W 1[E]
2 uSv/h 0.052 0.045 0.052 0.047 0.046 0.045 0.051 0.049 0.050 0.054 0.052 0.052 0.047 W 1[E]
3 1 Sv/h 0.068 0.058 0.064 0.062 0.058 0.057 0.064 0.074 0.057 0.062 0.058 0.062 0.064 W 1[E]
4 1 Sv/h 0.046 0.048 0.052 0.050 0.048 0.051 0.050 0.049 0.052 0.043 0.047 0.050 0.059 W 1[E]
5 1 Sv/h 0.053 0.047 0.052 0.053 0.046 0.052 0.057 0.052 0.047 0.052 0.046 0.056 0.056 W 1[E]
6 1 Sv/h 0.046 0.046 0.041 0.046 0.041 0.046 0.042 0.047 0.043 0.045 0.047 0.047 0.044 W 1[E]
7 1 Sv/h 0.042 0.043 0.042 0.044 0.039 0.048 0.042 0.040 0.044 0.046 0.043 0.047 0.043 W 1[E]
8 uSv/h 0.043 0.049 0.044 0.044 0.042 0.043 0.041 0.043 0.045 0.045 0.041 0.047 0.043 W 1[E]
9 1 Sv/h 0.045 0.041 0.043 0.048 0.047 0.045 0.046 0.043 0.044 0.048 0.043 0.049 0.046 W 1[E]
10 1 Sv/h 0.045 0.050 0.049 0.055 0.055 0.056 0.044 0.050 0.053 0.054 0.047 0.045 0.047 W 1[E]
11 1 Sv/h 0.052 0.046 0.053 0.057 0.051 0.053 0.054 0.053 0.053 0.053 0.058 0.052 0.055 W 18]

N E A —

WIERLE | RO e oR | 1A9R | LA16R | LAZA | LA%0R ke
1 1 Sv/h 0.067 0.071 0.074 0.070 0.064 W 1[E]
2 1 Sv/h 0.050 0.043 0.052 0.046 0.045 W 1[E]
3 1 Sv/h 0.069 0.058 0.069 0.064 0.070 W 1[E]
4 1 Sv/h 0.049 0.055 0.055 0.051 0.053 W 18]
5 1 Sv/h 0.046 0.054 0.054 0.049 0.056 W 1[E]
6 1 Sv/h 0.044 0.044 0.049 0.044 0.044 W 1[E]
7 1 Sv/h 0.044 0.047 0.043 0.040 0.047 W 1[E]
8 1 Sv/h 0.046 0.044 0.046 0.047 0.043 W 1[E]
9 1 Sv/h 0.047 0.042 0.045 0.049 0.043 W 1[E]
10 1 Sv/h 0.043 0.046 0.049 0.046 0.048 W 18]
11 1 Sv/h 0.055 0.052 0.049 0.053 0.055 W 1[E]
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